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1 NIX $h 11.8 13 84 71
2 H0O HE 11.8 13 84 71
3 BB E25 7.5 9 81 72
4 58 R4 20 23 95 72
5 7o/ BA 10.1 12 85 73
6 PR 13 15 88 73
7 EER BT 9.1 10 84 74
8 it &E] 12.1 14 88 74
9 & FREA 13 15 89 74
10 0% =R 13.5 15 89 74
11 )11 #43) 14 16 90 74
12 B HDOF 24.6 28 102 74
13 WA S8 2.7 3 78 75
14 INR B 12.3 14 89 75
15 e G 12.6 14 89 75
16 2 =ENF 13.1 15 90 75
17 SEM 8T 16.2 19 94 75
18 =F i 12 14 90 76
19 gl BT 12.3 14 90 76
20 =W IE 12.6 14 90 76
21 FERE 15 16.7 19 95 76
22 Pl & 17.8 20 9 76
23 B SR 5.6 84 77
24 IR 1518 6.6 85 77
25 OB RN 16 18 95 77
26 BA #7 18 21 98 77
27 -t 7.8 9 87 78
28 A EA 12.3 14 92 78
29 = 12.4 14 92 78
30 EK HErE 13.9 16 94 78
31 INR FES 16.9 19 97 78




32 B 1E5) 17.7 20 98 78
33 2 A 5 85 79
34 ik B 6.5 87 79
35 1z 508 7.5 88 79
36 iy Bt 7.9 88 79
37 T AR 8.5 10 89 79
38 #n A = 9.6 11 90 79
39 15 & 12.7 14 93 79
40 =4t EEAER 13.5 15 94 79
41 el =5 15 17 96 79
42 A 1288 7.7 9 89 80
43 BER REA 10.1 12 92 80
44 KA B 10.5 12 92 80
45 A i 16.4 18 98 80
46 HIE = 25.6 29 109 80
47 S BT 12.7 14 95 81
48 Al &5 13.8 16 97 81
49 HE & 21.6 24 105 81
50 AHE = 4.7 88 82
51 X %k 5.4 88 82
52 thot IFsE 9.7 11 93 82
53 FAE 1287 12.9 15 97 82
54 DN (& 24.6 27 109 82
55 t0Rd fdtet 8 9 92 83
56 =H =4 13.4 15 98 83
57 A2 B— 13.6 15 98 83
58 A #akE 14.1 16 99 83
59 T 14.7 17 100 83
60 BB Bk 15.6 18 101 83
61 E=Z NG 21 24 107 83
62 %M B 7.4 93 84
63 A &= 7.5 93 84
64 EH R 11.1 13 97 84
65 H+iE BA 11.7 13 97 84
66 ol IS 12.1 14 98 84
67 il RS 12.5 14 98 84
68 J\H £ 13.8 16 100 84
69 =K Bk 16.4 18 102 84




70 Al & 16.6 19 103 84
71 HEX 17.2 19 103 84
72 LR #F 19.8 23 107 84
73 INHK Z58 23 23 107 84
74 BE EFE 15.5 17 102 85
/5 e EiE 9.7 11 97 86
76 A T 18.9 21 107 86
77 INAIR B 19.2 22 108 86
78 1fiE Z2Hp 28.1 31 117 86
79 B RE 9.4 11 98 87
80 FEE EF 12 14 101 87
81 It B— 12.1 14 101 87
82 8 Rt 17.2 19 106 87
83 B BOAER 12.9 15 103 88
84 gl 82 14.3 16 105 89
85 K PF fE— 17.3 19 108 89
86 Sz SE— 17.7 20 110 90
87 B kit 20 22 114 92
88 AT T2IRER 21.3 24 117 93
89 EBA &R 7.4 9 104 95
90 2B/ H— 16.4 18 126 108
NR i NEZiFiry 13.1 15

NR VAR A 10.5 12

NS TP TSk 11 12

WD g EX 10.4 12

WD Pk 22 19.1 21
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